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,+ أن ��$) ا��'�� ا��	&�� ��% ا��$��# ا��"دي                

� &2 ا��$���1ت ا��"د
�  ر�.��ا/��.�ل              	���.   

  );1$� 31( ا��7ــــــــ5
�ء 
 : ا��.	
� ا=ول 

 ��� ��� �	
��(S)  آ����m=500g  ��� ���ABCD  اء
  : '�()� '& $%$� أ�

او��  AB: ا	.
ء ا-ول / 3456 '012��'α=45°  78�	 �9��	2/

  .  ΑΒ=1,5mا-;36 و:(	� 
   ): 3456��'BC=1m	�  BC: ا	.
ء ا	=2)3 
2�@2  :ا	.
ء ا	=2	? AB ةD1س '& دا)GR=40cm  2ه
  .  Oو'Dآ

�� /�M6( &'A  �51O  (S)ــ )��M ا	.��  1D�/VA=1m/s 
 �M6�	ا &' D45;B  ��D�/VB=4m/s  .  

;S  3	�EC(B)  ��.و  EC(A)أ��T ا	�G2M ا	DSآ�5  1ــ  1
 &5�M6�	اA  وB  .)0,5(  

  (0,25). أ�D9' X( 7ه�� ا	�G2M ا	DSآ�5   2ــ  1
  2��T\2/ ��� .(1)ك  ABوا	.
ء  (S)/5& أن ا	�24س /5&   3ــ  1
2��29ر أن G(ة ا\2��Tك '�2Sه2A' 2آ[ 	4��S '�.@  4ــ  1/�  ��D�	�69 $2/�� `%ل ا\)�26ل '& ، اa 2@aOBوA 

  f  .(1)، أB  ��Tإ	� 
�� ا	 BC  ــ /2��29ر أن ا\2��Tآ2ت '@��4 ;3 ا	.
ء 2D� ��Tأ ،. �M6�	3 ا; ��C  �5آDS	ا ��G2: e��2 . وا��'

  (0,75). هDT �A59: 3آ� ا	.�� ;3 هhا ا	.
ء ؟ ��0 ا	.(اب 
  .  )D9�A ا\2��Tآ2ت '@CD  ��4ــ ;3 ا	.
ء  3

�� ا	.�� D� D59Aa Oأو�S  �M6�	ا O��D  2@�45G ��T(1). وا  
4  �51O9	ا ��D�	2ء ا��6/2 /��2=�	25ت اMA4	ا ]j�/ kj�S( ــVA  .  
�� /�51O  1ــ  4D� ونO/ ��.	ا ��M.�� . )	2در اl5� 0ه���	.(اب .  ا	0 ا�� .(1)  
ا	hي ���q5 ا	.�� /H  OAأ��T ا\ر2jaع .  DSEC(A)=0,8Jآ�5 ا	 ��:��M(A  G2 ا	.�� '& ا	��M6  2ــ  4

   2l'  ABCD .(1)  3MA(g=10N/kgدر�a ا	��� 
  ا��.	
� ا�<�;2 

  : )D9�A ا	�Dآ�5 ا	44=0 ;3 ا	0�u �2)�9 وا	��4(ن '& 
 2@�2AB ةD�/ ــr=10cm    2ره)qG م
�2kg.m2 J∆  ��/2G-2.10=و

  .  أ;' 36�S' y' �9M(ر (∆)  2@�$24a	�Oوران T(ل 'S(ر
آ���� '@DM/ 79aD'09T  ��4ف  m=500gآ����  (S)ــ ��� ��� 

��� ا	D�9ة   09Sا	. و|O' D5ود '�j(ف ��� '.Dى ا	D�9ة  �	
�� \ .  
 3MA(α=30°  h`~(وg=9,80N/kg  .  

  .  D�j((S)ض أن ا\2��Tآ2ت '@��4 /5& ا	��M ا	0124 وا	.�� ــ  1
��� ا	��4(ى ا	0124 ، )��DS' 04Aك '2/ 79aD	D�9ة /(ا�D' �Mود  (S)	�3 ).0A ا	.��  OAq� ��زاو ��D�/ ورO�

 2@�45G ��/2$20rad/s .  
���  TأOB ��Tة ا	6(ة  1ــ  1 09S	ف اD: &' �69M4	ةاD�9	ا  y;D	 ��.	)اS( &'A  �	إB  .  


م ا	4
دو�� ا	DS4آ� ا	D: &' �69M4ف ا	DS4ك � e��(1,25). ا��  
 (0,5). أ��T ا	O6رة ا	 �M�)�4	h@ا ا	DS4ك  2ــ  1
�� '& :Dف ا	.��  BC أ��T ا	� . �;2�4���j ا	09S '& ا	D�9ة  Bإ	� ا	��M6  ا	.�� ��O و�(لــ  2)M64	ا

 �jG)a 09G �M6�	3 ا;C .  ��4@' D5| 2آ2ت��T\ض أن اD�j(0124  و	ا �M�	ف اD: &' �69M4	2ك ا��T\ة ا)G ةOB
)��� ا	.�� S(  3هf=0 ,9N  .(1)  

3  ��S�	5@2 ;3 ا�� �9M( ، 25.�رOa ةD�9	�5 اG)�	 ــt=0 �/2$ 2@'
�
دو�� ا2��Tك '=-8.10-2N.m M’  .  

دو�� ا\2��Tك /O\	� زاو�� دورا)@T 2(ل  3MA�EC ا	2594ن ا	�2	D5la 3ات ا	�G2M ا	DSآ�5 ' �59Ma O��  . (∆)	�D�9ة 

5
��512   ا	��� ا	Oرا��5 j	م ا)�A	ض ا-ول ;3 اDj	3        اjا-�(/3 ـ أ� &�O	08ـ  07$2)(�� �%ح ا    
2��2ن : ا	O4ة              أو	� /�2	(ر�2 ��(م ر��5�2: )25/� إ�5�G أ�3j                             ا	��4(ى �  

�%ل 'OSاد              : ا-��2ذ  http://sciencephysique.ifrance.com   



c '& `%ل ا	2594ن /5& أن 1ــ  3

1
E ( ) 4

4
θ = − θ +

π
   (1) 

و  t1  ?5Tθ1=0	�D�9ة /5& ا	�EC  &5��S∆أو�D5la O ا	�G2M ا	DSآ�5  2ــ  3
t2  ?5Tθ2=16πrad  .(0,75)  
��5& ا	
او��5&  3ــ  3D�	ا Oأو�ω1  وω2  O��  t2  .(0,75)و  t1	�D�9ة 
أt2  ��Tو  D9' �59M�/t1ه�� ا	�G2M ا	DSآ�5 ��� ا	D�9ة /5&  4ــ  3


م ا	4
دو�� ا	DS4آ� . ا	0lu ا	4�.
 '& :Dف ا	DS4ك � e��وا��
  2/(∆)  .(1)	�� �9	�S4(ر 

��� ا	D�9ة  ’’Mأ��T  5ــ  3 659@2Ma �.� 3�	2ك ا��T\دو�� ا

م '�
 2@659Ma ��اO/ &' &5a2ز دور.(ا OA/ �G)�a 3�	 .(1)  

 ) ;1@  6,75(ا�?�.��ء 
 ,M(C)=12g/mol,M(O)16g/mol,M(H)=1g/mol: ا	��0 ا	4(	�5 : ��$��ت 

M(Ca)=40g/mol ,R=8,314SI,g=10N/kg 

	��DAف ��� هhا ا	�4(ن دا`0 ا	D9�84 )����aCaCO3  . 04A(ن ا	8q(ر ا	��5��5 أ�2�2 '& آD/()2ت ا	�2	�5(م 

31,05gآ���� ا	CH3CO2H  �54.SآDا1
 �4T ا��=2)(��  / cmρ =  .  

2��4T 0 ا��=2)(�� و�D8ة آ�5��5 آ���@2 ja 
.�(M=40g  ةD8q	ا �hم ;3 ه)5�	2�	2ت ا()/D�	4=0 )��9 اa ،
1,70%  0�2j�	ا اh0 `%ل هqS�; ، ن)/D�	ا O5312 أوآ��ل '312 ، |2ز $)�S' �	إ�2;� إCO2  3; �DqT &�4� يh	ا

 �9(2� 0�u	رج آ24 �59& اO' �5�4 . '298رA	ا �h04 `%ل هA��4	ا ��)(�4 ا��=2T �.TAV 100m= ℓ .  

I  1ــ  ��T�5��5 آأ�	ة اD8q	5@2 ا��  )  0,75. ( ��� آD/()2ت ا	�2	�5(م ا	��Sa 3(ي 

: ، D59Aaه2 ه(  ρوآ���� ا	V  �54.SوM  �4.Tــ /5& أن آ�54 '2دة ��� �012  ، آ���� ا	4(	�5  2
V

n
M

ρ ×= (1)  

  (0,75). ا	CaCO3  ��4A��4ــ أ��T ا	���� ا	4(	�5 وآ�54 ا	24دة 	�D/()2ت ا	�2	�5(م  3
4  04A��4	ا ��)(�4 ا��=2T �5 وآ�54 '2دة	)4	ا ����	ا ��T(0,75). ــ أ  
II  )2984ر ه	�5 ;3 ا�� 0qS4	ن ا)/D�	ا O5312 أوآ��$ �.T ــAV 164m= ℓ  .hه �a وطDu	256س ;3 ا	ا ا

  : ا	�.D��59 ا	�2	�5 
  .  1013hPa: ا	�7l ا	.(ي و   C°20: ــ در�� ا	DSارة ا\��25د�� 

  . )D9�A ;3 ه�h ا	Duوط |2ز $�312 أوآ�O5 ا	�D/(ن |2ز آ2'0 
  (0,5). ــ �Dف /2	S.� ا	)4	 3	2lز ;3 ا	Duوط ا	��2'�5  1
2 O5312 أوآ��2ز $l	 3	)4	ا �.S	�5 ه(  ــ /5& أن ا�� 0qS4	ن ا)/D�	اmV 24 /mol= ℓ .(0,5)  

  (0,5). ــ ا����e آ�54 '2دة $�312 أوآ�O5 ا	�D/(ن ا	0qS4 ;3 ا	2984ر  3
4  7l� 2984ر	�5 ;3 ا�� 0qS4	ن ا)/D�	ا O5312 أوآ���9 |2ز $M� yG(ا	ــ ;3 اPB  3124	ل ا)�S4	ا ��� .  

 7l�	5& ا/ �G%A	أن ا ��A(  ي).	اPA  7l�	واPB  3ه :A B solP P g h− = ρ × ×   

h  ض)S	3 ا; O�4(ا�	ل ا)�S4	2984ر و ا	3 ا; O�4(ا�	ل ا)�S4	2ع /5& '��(ى اjaق ا\رD; ) 0�u	ا D�(أ (  

 ��� 0qS( �/D.�	ا ��T :h=5cm  . 3و)096 أن
sol eau 1g / cmρ = ρ =  

ا	D: &' �9M4ف ا	2lز ���  PBأ��T ا	�7l  1ــ  4
  (0,75). ا	�S4(ل 

ا����e آ�54 '2دة |2ز $�312 أوآ�O5 ا	�D/(ن  2ــ  4
  n’(CO2)  .(0,75)ا	qS4(ر ;3 ا	2984ر 

أ��T ا\ر25aب ا	��39  3ــ  4
n

e
n'
'2 ه( .  =∆

  (0,5)ا������2 ؟ 


